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B.Com. (First Year) Examination, 2017 UNIT-1
ACCOUNTANSY ANI]I} STATISTICS G-I
aper —
(Businegz Statistics) 1. ()  Give four uses of statistics in business.
=Eaug ¥ Afest ® Wr Igam g
Time : Three Hours .
Maximum Marks : 100 (i)  State four merits of a good questionnaire.
It gy el 9N Erd
PART-A [Marks : 20] A T
(EvZ-37) UNIT-II
Answer all questions (50 words each). (F=TE-10)
All questions carry equal marks.
it y= afEd € T W 1 OI| 50 v 9 (i) When Harmonic Mean is used ?
s 7 o 7oA B 3w TR & BE WA F WA FE ww ¥ 7
PART-B [Marks : 50] (iv) Whatis the difference between Absolute and Relative
Answer f _ (Zji)w_d? b, Sel measures of dispersion ?
SWer five questions words each). Select one question _
from each unit. All questions carry equal marks. e # frdy o W W F e e 22
YT TR ¥ UH-UE WA I §O, [A qe WeT Fifm) UNIT-II
TAF WO F IW 250 V=R ® fF T W (rwd-1II)
IR v B 3iF wEA B
PART-C [Marks : 30] (v) What do you mean by coefficient of
(avs-T) ' Determination ?
Answer any fwe questions (300 words each), frvEgm o q o oaed €2
All i
=K N v qﬂuﬁcst:unsacan;?zq:rl ;;k;m = B (vi) In which case two regression lines are indentical ?
Aferm 7 WM T A B ofw wEE § frg wiftaft § 29 whomw @l oo Bef €2
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UNIT-IV
(FE-1IV)

(vi) What do you mean by Seasonal Variations ?
Wt fremor @ e oW owwm ¥ 2

(viii) Give the formulae for converting chain base index
number to fixed base index number.

YA YR YEAFE ¥ o SR gEEw d
WWer # gF fafam)
UNIT-V

F=E-V)

(ix) A and B events are mutually exclusive. If
P(A) = % and P(B) = % then find out the
probability that either event A or event B will occur.
dA AN F WER gEST weArd #1 ARk o1 &
¢ T A W e L @, wfm
@ PN fF | @ =T 9w W= 1 ufem e

(x)  If the probability of a defective bolt is 0.1. Find the

standard deviation for the distribution of defective in
a total of 500.

R 3@ A F owfawa 01 ® @ 500
Ffeal I famoor w1 W fyeem wm Ff
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PART-B

(TuE-7)
UNIT-I
(FFTE-1)
Discuss the meaning and Nature of Statistics and explain
the limitations of Statistics. (24345)

TifErE & o 99 Wi W Sren Wy SR wifes
N e | geEE
OR (37erEm)

Tabulate the following : http://www.mlsuonline.com
In a trip organised by a college, there were 80 persons

“each of whom paid ¥ 155 on an average. There were 60

students each of whom paid ¥ 160, members of the
teaching staff are charged at a higher rate. The number of
servants was 6 (all males) and they were not charged
anything. The number of ladies was 20% of the total of
which one was lady staff member.

frafafes =1 avftas wifse -

TF WETed 59 U Theq 1 ane fea wam o
o 80 =R 9 forei T 155 Sfwa w9 R gEm fwa
g R 60 faenfudi 3 T 160 # from | ywm fFE
W s 4 fuw [W A pom B dEE W
gom 6 (udt TEw) of, TR wp @ = fem mm
fdl ® WEen §o "Wem w20 ovw o food @
T e § |
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UNIT-II

(¥erT3-11)
What is Skewness 7 What are the various tests of

Skewness ? Under which conditions Bowley's method
be used ? Explain. (2+5+3)

faowa 0 Bt ¥ 2 fawww 3@ R @ FE-ER Q
e & 2 o qwmed ¥ asat & Aty = owm fEm
S af¥n ? wEEiEel

OR (319

The prices of a particular commodity for five yéars in two
cities are as under, which city had more stable prices ?

A I W TF T F HET 9 s @ v A @
™ ¥, P TR W wwal § ofuw femm &2
Pricesin City A ¥ | 20 22 19 23 | 16
Pricesin City B ¥ | 10 20 18 12 | 15

UNIT-III

(§=$-110)
Define regression. Why are these two regression lines ?
How are regression equation derived ? Explain. (2+2+6)

vigm %t e Fifvm wiems 1 @l @ =
TR & ? wivnm wiEm fve vER fee ae ¥
TS
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OR (yam)
The following table gives the distribution of students
according to age in completed years and regular players
among them.
frefafas afer o @Sl ¥ o @ MR faentday
w1 a oW  Frofim faenfedi =1 fro swlidt & -

Age in Years 15 16 | 17 | 18 19 | 20

No. of Students | 250 | 200 | 150 | 120 | 100 | 80

Regular Players | 200 | 150 | 90 | 48 30 12 1

Calculate the coefficient of association between maturity
and playing habit, on the assumption that maturity is attained
in 18th year of age.

tfigeaal T8 BEA W ARG ® WE qeSd oNE  F
wfw, a¢ Wt fF oftgeem 18 o9 &t g & W=
T 2

UNIT-1V

(FTE-IV)
Explain the following with suitable illustrations :
frefafen = 3feg STl @ WEEM W W -
(i) Deflation of Index Number.
gaFE @ TSR
(i) Splicing. (5+5)
ot
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10.

11.

OR (3194)

Compute the trend value by the method of least squares
from the following data :

frefafan wdel & =Faa = W g0 STl G+
ofiEFeq ®IfTT ¢

Year 2009120101 2011} 2012 {2013 201420152016

No. of Sheeps| 56 | 55 | 51 | 47 | 42 { 38 | 35 | 32
(in lakhs)

Also find the number of sheeps for the year 2017.
7§ 2017 & fou 9= =+ TORE SEm TR

UNIT-V

(FFTE-V)

What is Poisson distribution 7 Discuss the salient

features and properties of Poisson distribution and state

the conditions under which this distribution is used.
(2+4+4)

o der T T 2 Wl §ed #i ge favimaett @t
fagar wifaw gen 37 ofifeufmal &1 oo wifse oA
swrld 3@ d@eA w1 IEM EE

OR (37ET)

(1) Anshu can hit a target 3 times in 5 trials. Vansh can
hit 2 times in 5 trials and Arun can hit the target
3 times in 4 trials, They shoot simultaneously what
is the probability that exactly 2 shots hit the target ?

1803/10,580/555/27 7 | [P.T.O.

HYsHAV3 PR ST e Esa R 9w 5 § 9
2 From e o wwa € 2R aem 4§ ¥ 3 Fm
3 oW FEa 21 3 WY-Ty fremn o £ @ @
Wigwm e 5 2 feH we W S T § 2

(i) A commitiee of four has to be formed from among
3 Economists, 4 Engineers, 2 Statisticaians and

1 Doctor. What is the probability that the committee
consists of the doctor and atleast one Economists ?

(5+3)

3 rdenfeal, 4 TR, 2 Wil a1 el |
¥ 9R @M F o 9fily == 83w 9w S
wifrwar g1l for afifs ¥ oF =fee aon #9-9-w91
T syt e e 2

PART-C
(@Us-|)

UNIT-I

(FFE-I)

12. Clearly distinguish between Primary data and Secondary.

Mention the various sources of the secondary data. What
precautions should be taken while using them ? (4+6+5)

wufas a fgdes ous 4 o e sifaw fides
wiE & fafe= = % 9aed R wWe w95
fFa-fem wafal & wm § ™ 9 e 2
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UNIT-II UNIT-III

(FaTE-1D) (FFR-111)

13. From the following datz, Calculate Arithmetic Mean, Median 14. On the basis of the following information find Karl
and Mode : Pearson's coefficient of correlation between age and
Wages in No. of Persons illiteracy :

Less than 20 5
Less then 40 1 frefafed 991 % oR W o 9w fea & aw
20-60 29 Fe fEdR & wewssy s w9 FRY -
60 and above 31 Age in Years | Total Population | Literate Population
80-100 8 10-20 1200 1100
100 and above 19 20-30 1000 925
120 and above 5 30-40 800 740

(15) 40-50 500 470
frafafan wosl #1 TeEa | gERR W, Wi qo 50-60 250 230
ERSERRISECET E 60-70 150 140
T T N N S Q- 70-80 50 45
20 ¥ ¥ 5 (15)
40 ¥ =M 12 UNIT-IV
20-60 29 (}'EFIQ—W)
60 3R i 31 15. An oil-mill worker in Ajmer city earns T 350 per month.
80-100 8 The cost of living index for a particular month is given
100 3R 3fis 19 as 136. Using the following data find out the amount he

120 3 afius 5 spent on house rent and clothing :
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16.

Group Expenditure Group Index
(W) (R)
Food 140 180
Clothing ? 150
House Rent ? 100
Fuel & Lighting 56 110
Miscellaneous 63 80

_ (15)
SR TR Y TE o e w1 gt wfy w350
FT@ ¥ W RN AR @ Sfa far gEeE
136 ¥ Frefefes oael &1 vam w1 5 9FW fFea sk
F0F T W A H R AN FE BT

G | =T (W) Tt gEiE (R)
Le 1) 140 180
T - ? 150
LEACETEl 7 100
fawelt @ M 56 110
fafay 63 80
UNIT-V
(FFE-V)

Give the chief characteristics of the normal distribution
and discuss the method of determining area with the help
of illustration, (10+5)
YA 9eR H g fadivand qome g SREvr &6
AT § 49eE T @ @ fafy w5 fagwm =it
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